Task:

You want to enlarge a photo to make a poster. The poster will have the same length-width ratio
as the photo. The photo is 7 inches by 5 inches. You want the poster to have an area that is at
least 250% as large as there are of the photo. Find the minimum dimensions of the poster,

round the dimensions to the nearest tenth of an inch.

Solution:

Area of the photo:

7 inches x 5 inches=35 square inches

The poster is 250% larger, area of the poster:

2.5 x 35 square inches=70 square inches

Area of the poster equals the multiplication of its dimensions a and b:
a inches x b inches=70 square inches

a=70/b

To find the minimum dimensions we should find the minimum of the function:

= +b—70+bb>0 =1 70
y=aro =gy e 2Ry =T
— Lo JE—
\\Iu.a; .*'/
—40 —20 —":h.ag l'-' 20 40

| |
=10} [

15! |

—2l0¢ |
In the interval b > 0 there is a minimum:
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Control: a - b = 70.56 square inches § = a'b7_070 =0.008

Answer: b = 8.4 inch, a = 8.4 inch
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